e [FRIERKBROET T RSB L OB LA 0 (ARANEAEANDEE) SFTHEAR 1B BALE
T 4 % | B % 3t T 4 | % B 1 T 4 | % B P 3t
mWa17TH 288 252 302 554 [H#0LET 258 206 204 410 |FIu1TH 1,634 1,226 1,366 2,592
Wa271T H 282 199 238 437 | = -B50T 427 323 376 699 |F 12T H 3,297 1,983 3,221 5,204
WAa3TH 322 209 241 450 |55 HT 62 53 53 106 |F1U3TH 672 541 582 1,123
a4 7TH 2,402 1,890 1,751 3,641 [HAFHT 63 41 45 86 | &AM 4,257 3,604 3,550 7,154
VU AT HT 325 241 255 496 | P FdFAT 1,359 1,103 1,256 2,359 |[BEAHT1ITH 2,990 2,110 1,494 3,604
VU = SeHT 1,158 972 1,034 2,006 | VG FLHfHT 1,159 950 968 1,918 |&@ AHT2T H 3,456 2,523 2,094 4,617
PO YT 1,685 1,322 1,233 2,555 |FRYEITHT 250 202 223 425 |&a ANBT3T H 2,968 2,758 2,935 5,693
EE1TH 1,459 1,331 1,269 2,600 |FEERT 17 683 744 1,427 |&@ AHT4AT H 1,709 1,188 1,594 2,782
2T H 575 480 477 957 |4smT 440 419 431 850 | KRAMELIT H 2,902 2,020 1,656 3,676
3T H 675 516 487 1,003 [#A 70T 545 478 537 1,015 | RAR2T B 5,539 4,089 3,588 7,677
JEE T 819 697 665 1,362 |FEHT 391 410 437 847 | RAMEST H 2,541 2,371 2,487 4,858
AEFHET 1,126 751 905 1,656 |AtHT 572 487 572 1,059 |F&HRT1T B 156 107 100 207
fETRmT 516 370 465 835 |y mT 0641 563 636 1,199 [ EfBH1IT H 3,916 2,809 2,906 5,715
FE JCHT 1,459 1,184 1,409 2,593 |FFILRET 443 349 387 736 |TEEARE2T H 4,290 3,153 3,056 6,209
FEARET 1,823 1,316 1,342 2,658 |dbiLfRET 397 246 332 578 |TEEARME3T H 4,481 3,587 3,443 7,030
SHAT 1,149 57 844 1,601 | ERAT 798 630 807 1,437 |mHESH1ITH 3,022 2,356 2,108 4,464
BARET 968 730 703 1,433 | FEEHET 199 110 151 261 |EHEL2T B 1,439 1,074 887 1,961
KT 2,508 1,824 2,105 3,929 |&3klT 2,501 1,965 2,166 4,131 & HESR3STH 4,394 3,190 2,763 5,953
& FlT 0 0 0 RESEL 569 495 508 1,003 |mHESH4TH 4,383 3,454 3,141 6,595
PN ERT 660 566 665 1,231 |& Py 425 266 358 624 | F#&A1T H 2,094 1,356 1,396 2,752
ST 381 247 256 503 |HHT 267 271 257 528 | F¥#% &2 T H 2,296 1,943 1,980 3,923
BriE1 T H 3,191 2,212 1,977 4,189 | &mT 483 309 369 678 | F#& A3 T H 2,769 2,102 2,552 4,654
BrE2 T B 908 678 513 1,191 |BE=FRT 619 475 480 955 | F#&&4 T H 2,854 2,243 2,326 4,569
B3 T H 76 65 35 100 |28\ iEHT 635 459 568 1,027 & &1 T H 2,694 1,983 1,989 3,972
BriE4 T H 170 126 91 217 |/ h)1my 2,283 1,817 1,731 3,648 |H¥&AE2 T H 3,018 2,491 2,591 5,082
BrE5T B 2,281 1,514 1,215 2,729 |Fd58m] 5= 0 0 0 0 |F#&E3TH 2,571 2,091 2,199 4,290
BriE6 T H 3,237 2,322 1,938 4,260 |3 EFET 2,243 1,653 1,816 3,469 |H¥%& A4 T H 1,798 1,552 1,556 3,108
BrE7 T B 4,482 3,420 3,159 6,579 [HiApImT 993 650 757 1,407 | E#&E1TH 3,538 2,797 2,690 5,487
TiELET1 T H 132 103 46 149 [ iz /T 1,476 1,239 1,379 2,618 | L& A&2TH 3,424 2,527 2,389 4,916
TAELAT2 T H 1,724 1,351 658 2,009 |FRyE FHET 911 697 673 1,370 | E# &3 T H 3,405 2,465 2,302 4,767
AT T H 15 9 15 24 |RAdlT 796 563 604 1,167 |FE& &1 T H 3,021 2,260 2,365 4,625
HAHT2T H 380 287 361 648 |tERT 523 338 358 696 |FE%E A2 T H 2,719 2,145 2,188 4,333
A3 T H 218 168 186 354 |HIERT 272 158 180 338 | A3 T H 2,019 1,594 1,674 3,268
EAZNAL] 1,759 1,513 1,137 2,650 | F-fE T 939 583 716 1,299 (W& &4 T H 1,398 1,139 1,214 2,353
e HEITLT H 125 105 124 229 |G HEEHT 520 378 431 809 |FH1TH 1,313 970 789 1,759
e HEIT2T H 270 209 255 464 |3 THT 318 244 241 485 | H:2T H 1,845 1,620 1,696 3,316
e HEIT3T H 486 511 519 1,030 |)FHT1IT H 914 736 761 1,497 |dt#FE1 T B 5,544 4,025 3,322 7,347
A NET 271 230 247 477 |JHHET2T H 704 643 603 1,246 |dt#FE2 T B 3,448 2,861 2,567 5,428
T INErT1IT B 242 307 350 657 |JFHT3T H 1,282 959 1,115 2,074 |Ab#1E3 T H 4,873 3,686 3,260 6,946
HAINErT2T B 981 742 1,011 1,753 | E/ASHHT 1,195 978 966 1,944 |dt#E4 T H 4,480 3,250 3,023 6,273
A AT 472 378 454 832 |Gty 318 248 287 535 [VEHE1 T H 27 22 20 42
A FR R AT 83 95 95 190 |7 KHT 2,251 1,814 1,964 3,778 |FEH1E2 T H 2 2 4 6
AR AEFAT 70 21 69 90 [+pEEmT 367 332 368 700 [VEHES T H 1,627 1,124 956 2,080
R 57 43 37 80 [iLimkmT 2,949 1,988 2,155 4,143 |FEFE4 T B 5,303 3,868 3,484 7,352
A ILRET 319 268 301 569 [c&fLHT 420 338 290 628 |VEHi1E5 T B 3,168 2,472 2,258 4,730
AN g 69 60 62 122 /KBl 787 503 521 1,024 |VEFE6 T H 2,472 1,957 1,711 3,668
1T H 12 13 14 27 | F-Fa R A mT 4,134 2,825 2,929 5,754 |FEH1E7 T H 1,806 1,383 974 2,357
2T H 136 88 122 210 |[fE=FHMIT 1,868 1,360 1,411 2,771 |FEH1E8 T H 2,363 1,683 1,547 3,230

Y3 T H 297 227 197 424 |THAEBHET 1,044 782 735 1,517
AT | 89 74 89 163 |{r] FHHET 1,653 1,528 1,480 3,008
Y5 T | 391 321 376 697 |FANET 3,620 2,786 3,178 5,964
S STGENE 525 386 412 798 |4 TH] 2,660 1,993 2,097 4,090 & 7 231,643 177,080 175,315 352,395




